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BRI HEQ) 23.46 (-2.6)| Ak Hi(2) 24.04 (-2.6)| F{X pk(2) 24.50 (-2.6)| 419 AHE(1) 25.13 (-1.6)|#fG {rf(2) 25.40 (-0.9)| HfE BEK(Q) 25.57 (+1.1D)| AR WEFHR) 26.22 (2. [iT)Il K@) 26.23 (-2.4)
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HR- H R FIR R AR B i deh R - B HRE-Ex A FIR - Kb R R AR TR - JEA
5 H SEh) 9:43.46 | TP A P24(2) 10:19.76 [ F 1 HER(Q) 10:20.13(#0A5  HK(Q@) 10:26.34 38 9R(2) 10:34.42[ZH k—©2) 10:35.93|#5 (1) 10:40.58|f#)11 7 K(2) 10:42.60
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R - AL B % A R IRAE T Ee = L FIR- Kbt B i geth HIRHIR FIR-FIR
5 L3I SN0 16.72 (0.2 [/ FE2E(2) 17.99 (-0.2)| AT FH() 18.76 (-0.2)| =& #&n(1) 20.19 CLA)|HA IR 21.13 (-1.4)
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I HRQO 12.19 (LA k(1) 12.44 FLA A IR 12.69 (+1.4)|Hrék HER) 12.70 (LR E (1) 12.88 (+L.o A FEEQ) 12.88 (+1.4)| TLE )1l SRE(D) 13.00 (+1.4)
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P - s00m AT EE(2) 25.93 (CL1| 28 BZEE2) 28.34 (CL.D[pkm EHAEW) 28.56 (-1.6)| /I LEE(2) 28.80 (+0.9)|ZHH #iH3(2) 29.36 (- LD AR LBH2) 29.47 CLD[IEA BEQ) 29.59 (+0.9)|F5iE Q) 30.13 (-0.2)
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Tl Q) 5:12.10| 1Rk ABLU2) 5:14.28| B4 #£(©2) 5:16.48|5 )11 Q) 5:17.42| . FHHD 5:34.32| 111 BE(L) 5:38.83 |l JF KH(©2) 5:39.83| 0 OVa7(2) 5:45.73
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101270 100mH 17.87 (-1.0) 20.47 (-0.4) 21.83 (-0.6) 19.50 (-0.4) 20.47 (-0.6) 20.42 (-0.4) 20.37 (-0.4) 25.96 (-0.6)
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104278 L 6.10 5.67 4.84 6.08 5.34 5.68 5.83 5.23
101270 200m 32.52 (-1.4) 30.75 (-0.8) 31.59 (-1.9) 33.16 (-1.4) 33.11 (-1.4) 34.42 (-1.4) 5.55 (-1.9) 32.57 (-1.4)
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Sl Q) 2:32.53[ a1l #EQ) 2:40.07 538 FH1) 2:42.19| 83 HEQ) 2:43.19[ )11 B#E(1) 2:43.88 1A% FAEQ) 2:49.80| £ 3(1) 2:50.56 | ELEF i#fik(1) 2:51.55
e o At - R R AL BRE-fex A BrgEmE- T M- g B A EET a4 B - K S TR - TR
- - i EAED 4.65 (+0.3)|7T.H AHR) 4.31 (+0.5) [ THE #E%(1) 4.22 (F0.2)| W £(1) 3.95 0.0|B (1) 3.86 (-0.4)| KifE fEZ=(1) 3.80 (C0.5) e FER(1) 3.78 (+0.3)| il AaZLE(D) 3.68 (-0.5)
Ff b RS Tt LA [OF-Uigy NG BB SRR T P B K S [Op-tigaen FE bR B rp ()
X _ PR RBQ) 12.69 (+1.0)| /1N L5E(2) 13.63 (+1.O)| it 1L REL(2) 13.81 (+1.O)|A[H] LE5(2) 13.90 (+1.O)|{if K 1E(2) 14.01 (+1.O)|fiPBF SEAE(2) 14.05 (+1.O)| LA EMI(2) 14.08 (+1.0)| (PR ZR4(2) 14.30 (+1.0)
s e o B SR T T B2 B KL FE bk BrpEE(h) BB AR B BF - AR S il - T ch AR TR P
. S ASTRE) 2:23.16| )1 Q) 2:35.43| 3 fE3EQ) 2:40.21 | KFI2) 2:46.16|(FFHE L75(2) 2:49.83|/hSF FE4K(2) 2:53.33 R 35%2(2) 2:53.76 [(FHiE Asc(2) 2:54.99
e o BT H SR T g SR FF bt B gt T HrIEE AR Froem-p Ff kA B a5 B 2K S e
. B ek %72(2) 4.33 (+0.1)| e {32 4.10 (CO.D|IiFEF AR (2) 3.87 CO.|HE LHEQ) 3.79 (-0.5)[#ff () 3.74 (0.0)|¥efr O/efz(2) 3.73 (-0.6)[ 45 Vw2 3.69 (+0.5)[{fe4% Jy(2) 3.63 (+0.7)
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